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I. CHOOSE THE CORRECT OPTION (1x15=15)

1. One of the most effective solution to the persisting problem of untouchability is
a. To raise economic standard of the low caste                     

2. Decline in the supremacy of Brahmins is a
b. Structural change               

3. In the changing social scenario, the social status of a person is determined by
d. All of them

4. Changes in inter-caste relations is a
a. Functional change              

5. Which of the following is not true of caste system?
a. Its members are usually not bound by any religious order         

6. Which one of the following is not a favorable factor in the growth of caste system?
c. System of worship                 

7. Which one of the following was not the advantage of the caste system?
a. It brought instability in the society              

8. Which one of the following is not the disadvantage of caste system?
b. It introduced much needed order and stability in society

9. Which one of the following is not an unfavorable factor for caste system in India?
a. Abolition of Jagirdari system  

10. Which one of the following is not an unfavorable factor for caste system in India?
c. Tribal culture                

11. Which one of the following is not true of caste system?
a. Caste decides code of behavior  

12. Which one of the following is not true characteristic of caste system?
c. Religion has nothing to do with caste

13. Which one of the following does not apply to caste system?
c. Interaction between castes is unlimited

14. Some of the changes that have taken place in caste system are
d. All of them

15. Which one of the following is not true of caste system?
a. In caste system there is wide competition                       
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